Pi Mu Epsilon

Problem of the Month

February 2007
Each of the numbers 1, 2, 3, . . ., 12 is used exactly once in the empty cells. Each row (or column) is an arithmetic expression, read and performed left to right (top to bottom), disregarding the usual order of operations, to yield the result at the right (the bottom).  This can be solved using logic.
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Problem of the Month Rules:

· Submissions must include a complete mathematical justification along with the answer.  Submissions which only include the correct numbers in the puzzle will not be considered correct.
· Submissions may only be made by individuals or groups of two and must be dated.
· Submissions for this problem are due before 5 p.m. on February 23, 2007; they may be given to Dr. Leigh Lunsford (Ruffner 346), Dr. Phillip Poplin (Ruffner 329), or Dr. David Shoenthal (Ruffner 344).
Pi Mu Epsilon Problem of the Month website: http://www.longwood.edu/staff/shoenthaldw/potm.html
Top of Form













